rl—&] i*b = 5: pp%t%i#'& gu#/f N %i._ ll,}: lé f'»? +<H3§ #
I (T S
. o L33t #37 8
7]\1:; Wgﬂl?ﬁtbﬂr ']f*%‘fii— ;#\ W§4f,;b'rﬂj,.+,j;,_ 33&‘%}W§4
jFI/ A ’j‘#‘« é’u P%( )ﬁ%ﬁit ’J'Ff » 18 ¥ ;j‘%ﬁ il F%( ) BRAR FEFEY 23

1rFs(3)s

|

ORE

I

v B2 i 4 p% (TOCFL)Level
CATEE KT A 3 (HSK) = &

~hd R Y £ pF it 120-240

MR A e e Y S S

# 3 240-480 /| ¥ -
A RE A B LT A
FoEY A EFF (-
EICDNE Cia

i -
Y, 2T E

- ~ #F 2y 4 Rl (TOCFL)Level

2p#HL(F) L

S~ REF T A RHSK) e

OLE
Z hAREY 3
240- 360 | R A

Fo B &?}”48 =72
V. \Qlﬁﬂ&f"§;§ﬂ.ur
2 TEE(E), &

Pl ERRAMRELZ

FTHE R

E’*ﬁmi
ER

0- J Bﬂ?
P%( )J
% i
Fﬂtfi’f

v BT i 4 % (TOCFL)Level
1 ~Fam(z)mt

VAT kT Y G (HSK) 2
Gy

= B Y B P 120-240
) pE B L_—t' ¢ B Fo

£y 240-480 /| & -

[

AR RE L B LT IR 2 -

A AR T CD WEIE 2

F(E ) oo

- ~ 3 2 5 4 Pl (TOCFL)Level
2 A (7))t

SN REE KT Y EHSK) e &
(7)1l

ERNEAE Y ?igﬁﬁé
240- 360 | pE z¥
FoF REY 4

fim
\v_t
=
= |

2> F 3¢

o




i

B

R -t B L 2

A1 109 £ 10 % 14 p % 54 =t K73 € R BT L
A 112 & 03 7 22 p % 59 =t #Ax § RLE BT
A 114 £ 03 7 19 P % 63 TR € RU BB 7% = if

Flzd A 28T GHEAR)G FRARR FH SR R AR RE 2 FF5mRL
2R B Yy 0 FT AR RS S FEF A LIEE (T AR )

AR B E TS - F o WY A TEE(-), B

~ ~ E3E 4 pl%(TOCFL) Level 1 ~ s (3 )1t b

AR KT A E(HSK) = (7))t

R AEY B RGE 120240 ) o A A A H B R o RE Y 240480 ) P e

Jiv 1y

ﬁﬁﬂ@%iﬁ@T;wﬂi7—ﬁ’éw:ﬂ%ﬁréé()J£r%$()1*ﬁ-
. g;-:f;@ i 4 |5 (TOCFL) Level 2 s # s (7)1 ¢
~ R /§ F% }‘lyvé‘(HSK) T &(5)'1—!’

o

=TI Y

~hd R Y EE e 240-360 ) pF o A E A H B RRok RE Y 480-720 o) pEF o
CEBAREFY o TEF(2), 2 TEF(r), A EREEFY oA ERARL

2oHAT 0 E R
B RS BV PR LR SR B APITL AR 0 T Y S A BRE R ¢

AP RE A 4o AR A 'éf’-’é" R T ﬁ*"fgw”ﬁ SIS E LN 2
WMEP 2 22 h o 2 AFARTREFREFY R o P2 Lo

Ayeiz p 109 B & B~ BAT4 B4t o

APEZGHIEERELBLF W BTl o



